

JAMSHORO POWER COMPANY LIMITED (GENCO-I)



TENDER DOCUMENTS ON PERCENTAGE RATE BASIS

FOR

ENGAGEMENT OF FIRMS FOR SUPPLY JANITORIAL SERVICES FOR CLEANING OF BUILDING AND ROADS, OF POWEF HOUSE AREA WITH SWEEPERS AND COLLECTING WASTE MATERIAL THROUGH WHEEL BARROW IN POWER HOUSE AREA TPS JAMSHORO.

TC-308

BILL OF QUANTITIES

- Engagement of Un-skilled labour for Janitorial services i-e cleaning of buildings and roads of Pow House area, collecting the waste material etc. By Un-skilled Labour through contractor.
- The Un-skilled Labour will be 12 No's.
- The number of working days will be 138 (One hundred & Thirty-eight only).
- The estimate based on the wages of Un-skilled Labour as per notification of Sindh Government Labour department effective from 1st July, 2025 (i-e 1538/- per day).

agement of Sweepers for cleaning of ding & Roads of Power House area a sweepers and collecting waster terial through Wheel Barow in Power use area at TPS Jamshoro.	M/	QTY 138*12	RATE	AMOUNT
erial through Wheel Barow in Power			D 4 500 65	
		1656	Rs. 1,538.00	Rs. 2,546,928.00
TERIAL FOR 06 MONTHS				
enyle Bottle. (Quotation)	No's	125	Rs. 170.00	Rs. 21,250.00
oo. (Quotation)	No's	80	Rs. 200.00	Rs. 16,000.00
boo (WCSR-2022-P-22-1(30))	No's	10	Rs. 474.00	Rs. 4,740.00
val and coder (Quotation)	No's	5	Rs. 450.00	Rs. 2,250.00
		Estimate	ed Amount Total	Rs. 2,591,168.00
add & less/ above & below (Percentage %)		Contractor Premium		Rs.
Total Amount				Rs.
ak	oove & below (Percentage %)		Estimate	Estimated Amount Total bove & below (Percentage %)

Note: The rates must be quoted excluding GST/SST

Signature of Contractor With Seal

Terms & Condition of the Tender:

- 1. The PEC registration contractors with valid registration along with FBR & SRB active.
- 2. ATL are eligible to participate in the bidding online.
- 3. The error free / without cutting encasing, shall upload on EPAD on due date as prescribed i.e 08-10-2025 upto 12.00 hrs
- 4. Original Registration with the Pakistan Engineering Council (Civil) Certificate.
- 5. Original Registration with Income Tax Department (NTN Certificates).
- 6. Original Registration certificate of Sindh Revenue Board, Government of Sindh is required
- 7. No tender without 05% Earnest money of the estimated cost of the BoQ for the tender will be considered. The bidder should deposite bid security as shown against the work in shape of call deposit / Pay order prepared from scheduled banks of Pakistan in favour of the RE(O) GENCO-I JPCL Jamshoro. The call deposite / Pay order should upload along with offered bid on E-Pad and the original call deposite / Pay order must be provide to tender opening committe before closing time of tender. The bid will not be considered without original call deposite / Pay order.
- 8. Improper / Incomplete or Conditional bids will be rejected straight away.
- 9. The procuring agency may reject all bids or proposal at any time prior to the acceptance of a bid or proposal. The procuring Agency shall upon request communicate to any supplier or contractor who submitted a bid or proposal, the grounds for its rejection of all bids or proposals, but is not required to justify those grounds as per PPRA Rule-33 (1).

Terms & Condition of the Tender:

- 10. This Tender can also be seen on PPRA, JPCL website& Newspaper.
- 11. For any information or clarification can be sought on Phone number 022-9213716 during office hours.
- 12. The most advantageous bidder, whome the work order will issue should deposit the stamp duty (E-stamp) @ 0.35% of work order amount (Excluding GST / SST), before submitting the Bill.
- 13. The work completion period is 138 working days, from the date of issuance of work order.
- 14. The BOQ prepared in the light of Labour and Human Resource Department Letter vide No. LO-KOTRI(Insp)/2025/327 Dt: 05-08-2025 Regarding min wages of Unskilled Labour @ Rs. 1538/- Per Day Per Person for 8 Working Hours. Hence the Bidder must Quoated the Bid which must covered the Min Wages of Labour of the said notification also covered the Applicable Taxes. Any Voilation of aforementioned condition shall leads disqualification / Rejection of the Bid.

Signature of Contractor With Seal